B VCE & PDF https://lwww.geekcert.com/c2150-200.html
' 2024 Latest geekcert C2150-200 PDF and VCE dumps Download
: GeekCert.com

C2150-20095%4s

IBM Security Systems SiteProtector V3.0 - Implementation

Pass IBM C2150-200 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/c2150-200.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

C2150-200 Practice Test | C2150-200 Exam Questions | C2150-200 Braindumps 1/3


https://www.geekcert.com/c2150-200.html
https://www.geekcert.com/c2150-200.html
https://www.geekcert.com/c2150-200.html

VCE & PDF https://lwww.geekcert.com/c2150-200.html|
2024 Latest geekcert C2150-200 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

During planning the initial installation of SiteProtector Express, a customer has stated a need to retain 90 days of online
event storage.

What is the recommended amount of disk space that should be assigned to the database?
A. 40 GB
B. 67 GB
C.79GB
D.87 GB

Correct Answer: A

QUESTION 2

The system appears in a domain and the DNS, but it does not appear in the Active Directory tree. As a result, the
SiteProtector system cannot resolve a name for your computer.

What is the likely cause of this issue?

A. The dnsconfig.xml is improperly configured.

B. The trust relationship between this workstation and SiteProtector has failed.

C. TheSiteProtector DNS local hosts file needs to include the system information.

D. The computer may not have an assigned DNS Server name in the Active Directory object.

Correct Answer: C

QUESTION 3

How many computers are needed to setup a minimum deployment of SiteProtector?
A. One computer

B. Two computers

C. Three computers

D. Four computers

Correct Answer: D

QUESTION 4
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Which two license types can be used with SiteProtector agents? (Choose two.)
A. Module License

B. One Trust License

C. Linux Server License

D. Trusted Server License

E. Remedy Server License

Correct Answer: AC

QUESTION 5

NIPS1 agent is a part of the Network IPS group. Web Application Protection policy WAPL1 is applied to NIPS1 agent.
You make changes to WAP1 policy, named it WAP2 and applied to the Network IPS group.

Which policy will be enforced for the NIPS1 agent?
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A. All enabled security events in WAP1

B. All enabled security events in WAP2

C. All of the enabled security events in WAP1 and WAP2

D. All of security events in WAP2 that are not enabled in WAP1

Correct Answer: C
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